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1. Write clearly and Iegnbiy wnthout mnstakes dnd overwrmng utxhsmg the maxumum time.' 5
- allotted for. the exam 7 ‘ '

2 Answer should be in your own styk wuthout changmg the mam ‘core concept
3. Use only black or blue mk pen to wrtte the exam

S S0% Choose the correctanswer~ : o o Sk C TN »‘,-1;‘?;:1-.:.-12 '
. 1. -One knlogram force equals [ i R AR T ., B
“ajosdyne . b)9.8x10"N - ) 98x10°dyne  d) 980 dyne
. The va!ue of universal gas constant o ‘ S SN - N
: a) 3. 81_-,Jmoi1 K b) 8.03 )mol RS c) 1'.38 Jmol‘l. K d) 8.31 Jmolt K1
_‘3. 'Ixnlowat'\ hour is the unit of ............... T o s S
MY a) r<"-‘5'5t'Vlt\/ | b) Conducfwity c) Electncai energy . d) Electrical power
-4, 1'mole of any substance STy G —— Molecules. SR
e ja) 6. 023x10%  b) 6. 023 x 102 - €) 3.0115x 1023 d) 12. o4ex1023" '
Whlch of the fo[lowmg have- lnert gases 2 electrons in the outermost shell.
cayHe b)yNe. L QAr o d)Kr |
When pressure is rncreased at constant temperature the . solubmty of gases in
liquid........os _ : . ; - wy -
, a) No.change ~ : - b) mcreases P, c)_decreases ' o) no reaction
. 7. Which is formed during anaerobic respiration ‘ ToEt. RS
' a) Carbohydrate  b) Ethyl alcohol -+ c) Acety! CoA d) Pyruvate
8. The wall of human heart is made of ............. - ;
. @) Endocardium - b) Epicardium : ¢) Myocardium  d) All of the
- -above ST ; o Coel ' : '
9. Nerve cells do not _possess - _
a) neurilenma - ' b) Sarcolenima c) axon d) dendntes
< -10.- Which organ act as both exocrine gland as wel as endocrine gland
© a)-Pancreas - b) Kidney - 'c) Liver - - d)Lungs,
11. Which one of the following is an [IUCD. : ‘
, - a) Copper.,T b)Oralpills =~ ) Dlaphragm ood) Tubectomy
+ . 12. The region of the chromosome where the spindle flbers get aHached durmg ceil
R ;"'-d!VISIOFl : : L Em -
- afa) Chromomere . b) Centrosome- o 'c) Centromere - 'd)' Chromonema ‘
IT _Answer any 7 questlon Questlon no: 22 Compulsory. | . 7x2=14

13, State Raylelgh s law of scattering ‘
‘14. Distinguish between linear, arial or superﬂ(:lal expansmn -
15. Why is tungsten metal used in bulbs, but not in fuse w1res7 .

- 16. ‘What is rust? Give the equatxon for formation of rust.

"17 Why is the teeth of rabbst called heterodont? v O
, 10" SCIENCE PAGE - 1

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

]13 Matchn.

_ a) Sywmplastic pathway Leaf

B) ramspiration .~ = < Plasmodesmata |
"¢y Osmosis .~ Ppressure in Xylem :
d) Root pressure T Pressure gradient

19, Why are thyroid hormones referad as personality hormene?.
- 20, Idenhﬁg the parts AB,C and D

- 21. 4hat do you understands by the term phenotype and genotype? :
22, 3.5 litres of ethanol is present in 15 liters of aqueous solutlon of ethanol. Calculate
- volume precent of ethano! solution. ki 4
IIT Answer any 7 Question: Question no:32 Compulsory. | 7X4 =28
23. \Yhatis universal taw? Write any 2 applications o
. 24. Differentiate the eye defects: Myopia and Hypermetropia
- 25. Calculate the 9% of each element in calcium carbonate
) { Atomic mass: C-12, 0-16, Ca - 40 )
26. 2) Identfy the bond between H and F in HF molecule
b) What property forms the basis of identification?
¢) How daes the property vary in periods and in groups?
27. &) \What is collateral vascular bundle? e E
b) Where does the carbon that is usaed in photosynthesis come from?
C) What is the common step in aerobic and annerobic pathway?
28. How dees locomotion-take place in leech?
- 29. State whether True or False. If false write the correct statement
‘ a)The phloem is respobnsible for the translocation of food &
b) When guard cells lose water the stoma opens \ M Poovarasan M.Sc B.Ed -
c) What is cohesion? Pg Asstin Chemistry -
30. a) What are the structures mvolved in the protection Gf brain? Dharmapuri District
. b) Define reflex arc
31. What is colostrum? How is milk production hormonally regulated’«’
-32. The resistance of a wire of length 10 m is 2 ohm. If the area of cross section of the
wire 2x107 m?, determine its (i) resistivity (i) Conductance .-
IV Answer very briefly: 3X7=21
33. 2) Deduce the equation of a force using Newton ; second law of mation (OR)
, b) Derive the ideal gas equation.
34. a) Calcium carbon ate is decomposed on heating in the followmg reaction.
CaCO, —> Ca0 + CO, .
i) How many moles of calcium carbomnate are mvolved in this reactlon? s
- n) Calculate the gram molecular mass of calcium carbonate involved in this reaction
iii) How many moles of CO; are there in this equation? (OR)
- ~ b) Write notes On various factors affecting solubility. : '
~ 35. a) i) Name the gaseous plant hormone. Describe its three different actions in plants.
' it) Which hormone is known as stress horomone in plants" Why ?
iti) What is Botting? (OR)

b) What is the structure of DNA orgamzed7 What is the bmlcglcal significance of DNA?
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